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Multiplication Word Problems

CRAYONS

a.

Jacob bought 6 packs of
crayons.  How many
crayons does he have in all?

x =

6 T-SHIRTS 6 T-SHIRTS

b.

The store has 9 boxes of 
t-shirts.  How many t-shirts
do they have altogether?
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c.

Jennifer has 8 packs of gum.
How many sticks of gum does
she have in all?

x =

d.

Coach Johnson bought 7
boxes of baseballs.  How
many baseballs does he
have in all?

x =

e.

Marcus bought 7 bottles of
orange juice.  How many
total ounces does he have?

x =

#2
Pencils

f.

Mrs. Janice bought 10 boxes
of pencils for her class.  How
many pencils does she have
in all?

x =

Golf Ballsg.

Chris buys 8 packs of golf
balls.  How many golf balls
does he have altogether?

x =

Apples

Carla has 5 boxes of apples.
How many total apples does
she have?

x =
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ANSWER KEY

6 8 48 9 6 54

8 9 72 7 7 49

7 8 56 10 10 100

8 3 24 5 6 30
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